Rivet 3.1.10, = 3.1M events

1960 GeV ppbar Top (parton level)
L L L R A I R
4 — ]
— Yy (ttbar) (pTtt < 50 dy > 0) N
35 [ --0-- Herwig++ 2.7.1 default _
B Herwig++ 2.7.1 UE-EE-5 ]
— --4-- Herwig 7.2.1 default 7]
3 —
2.5 — —
2 —
- sa .
15— -
1 -
0.5 — —
a _-rnlm N m.mlm_
:' T I T | T T T T | T T T T | T I ' T :
s 2K =
A — -
[} | _
-c — pu—
— | - |
~ L | & T
AN — I,'_ \I:ﬂ ) L
i - 1 Jﬂfﬂ*}]ﬂ@fﬂm—mmB}{Em-ma}Eﬂ{ﬂ—[ﬂ—ﬁ}&}{ﬂ@-@}@}ﬁ}{ﬂ{}ﬁz}llt; N
= 1 T = = —— TNV |
: -
[} - 1 ]
I 1
9 — |
ie) - |
g
0.5 _
1 1 1 | 1 1 1 1 | 1 1 " 1 1 | 1 1 1

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


